TR D H3HE 1 IRAEX

Tk ] ] R i 2 451 14 ( ) #H( ) #F(
T2 roT x=6
() 1] x=3=2097bbs=3 DL BASTE L SV PEiF A (3 2x4+6>5x—12 5 —3x>—18
HEAE x—3=2x W42, EoT  x<6 - ) _O)—
roT  x=-3 SHUE, 23 A S, 3x—T<24—x) b 5x<15 —@—\
2] x=3<097bb a3 DEE roT  xZ3 ® 3 6 ;
AT —(x—=3)=2« O & @ pILEHiFHEE RO T x<Z3
koT x=1 AU, x<3 AT, (4) #1212 100 28T 5 &

[1], [2] 76, kDDMEE  x=1

(2) [1] x—4=2037cbbx=4 DL X
AEXIT x—4=<2x+1
Lo T x=>-5
e x=4 L oIEiEiEx x=4 - ©)
2] x—4<0 bbb <4 DL X
AU —(x—4=2x+1
o7 x=1
Ik x<4 EodbaiEir 1<x<4 e ®
RODLEL, O L @ 2Hbd-fET =1
3) 1] 241=0FT7bbr=—-1DLx
AREERIT x+1>5x
F-oT x<%
THE x> —1 & oMEEE —1§x<% ------ @
2] x+1<0Thbba<-1DLZE
AEXIT —(x+1)>5x
FoT x<—%
e x<—1 todsEfmpT o x< =1 e &)
KB, O L @ EADELMET  x<y

12

(1) FEAZEHTDH L
LT x>4

(2) MHRIZ 6 ZHIT D L
FEXEBHET 5 L

—3x< =12

2x+3(10—x)=24
—x=—6

7%, 7
4 X

100 0.05< 100(0.2—L>g100 % 0.1

100
+hbb 5<20— x<10
BHE 20 %8/< . —15< —x<—10
Wz —1 #HiT 5 & 15=x=>10
FoT  10<x<15

513
x+a=3x+5 XV xéaES
“55 =3 kv a=11

14
REWHz x L9258, NSV EUT40—x THD,

1
%x<40—x<x Thbb 7x<40_x

40— x<x

O oAz 4 28T 5 & x<160—4x

725 5x<160

o7 x<32 e ®

@ »rb —2x< —40

o7 x>20 e @

® L @ oIiEFIAZRD T  20<x<32

FoT, REVWEIT20 LV RE< 32 ED/hauy,



